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Rechenkreisel, Blatt 1

Aufgaben zur Multiplikation bis 1000
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Losung: Rechenkreisel, Blatt 1
Aufgaben zur Multiplikation bis 1000

Aufgabe 1
45 12
3
15(e) 4
5
75 20

Innenprodukt: 900

Aufgabe 2
34 2
2
17(®) 1
5
85 5

Innenprodukt: 170

Aufgabe 3
238 56
14
17((®) 4
Y
17 4

Innenprodukt: 952

112 84

4

N OL:

4 3

Innenprodukt: 336

14

)19

N (o)~

2 38

Innenprodukt: 152

12 10

12

)10

(o)~

24 20

Innenprodukt: 240

1
5 (o) 2

28
140 56

(o0]

Innenprodukt: 280

20 17

20(e)17

(o)~

40 34

Innenprodukt: 680

21 75

7

)25

~(o)w

7 25

Innenprodukt: 525

© https.//aufgaben.schulkreis.de

1/1



